
Rig    ur Maths  rd Level Numeracy & Mathematics 
 

What have I learned so far 55?  www.rigourmaths.com 

 

Name:  
 

 

Date: 
 

MNU 303a Bronze Outcomes 1-4 

             Calculate 

 

 
 

 

           This map shows the distance  

            between Ayr and Paisley. 

 

The scale on this  

map is 1 cm = 8 miles.  

 

The length of the line on the map is 9 cm. 

How far is it between Ayr and Paisley in 

real life? 
 

MTH 317b Bronze Outcome 2 

 

 

           What is the lowest common  

           multiple of 8 and 9? 

  

MTH 305a Bronze Outcome 3 

 

 

         Calculate the size of the missing    

           angle in the triangle.   
 

 

MTH 317a Bronze Outcome 3 

 

         How much  

           does it cost   

           for a block of  

           cheese, a   

           packet of  

           biscuits, and a  

           bag of sugar  

      from CostSmart? 
 

MNU 309b Bronze Outcome 1 

 

 

My score: 
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            Calculate 15% of £360. 
 

 

 

MNU 307a Gold Outcome 3 

 

 
           An oven has a hire  

             purchase price of £590.  

  

             It can be paid for by putting  

            down a deposit of £86 and then   

            paying the rest in 8 equal instalments.  
 

            How much must each instalment   

            be worth? 
 

 

MNU 309a Gold Outcome 3 

 

 
           A bag contains  

             2 purple balls,  

             a red ball, 3 blue  

            balls and 4 green balls.  
 

A ball is chosen at random. What is the 

probability of choosing a green ball? 
 

Give your answer as a fraction in its simplest 

form. 
 

 
 

MNU 322a Silver Outcome 3 

 

 
           Calculate 
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            Express your answer in its simplest  

            form. 
 

MTH 307b Silver Outcome 1 

 

 
           If 𝑎 = −3, 𝑏 = 9 and 𝑐 = 5 evaluate;   

 

(a) 2𝑎 + 𝑏 + 3𝑐 
 

 

            (b)     √𝑏 
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My score: 
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